CHAPTER 3. GROUP RING REPRESENTATIONS 28

SRG = { A+ Mea+ Apa? | A € R What does g.o look like (where g € G
and o € RG) 7

Arl + Aga + a’q.l.ﬂ!?
As.l + Ap.a + Ay
Aol + Ag.a + Ay.0®

I.{.A.l + Ay -“.I-ﬂ.?]
(+) a( M1 + Mg.a + My.a™)
(] I'I.?{}q.l + Mg + -1.|.u?]

Correspondance

il (0

{these are the basis elements which are acted upon, permuted by left-multiplication
by 3 x 3 matrices).

1 00
T:1— [ 0 1 D],
ool
0ol Ay Ay
a4 — 1 0 0 | from (s)a(d.1+Aa+d.07) —a | A - A
10 Az Az
010 Ay
a? = | 0 0 1 ] from (se)at(A.] + Mg+ Aga?) e a? | M | =
1 00 A
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